h k. XK

A0Sl 3 gasd) 3a0ea Jal se Jalas

ol

6x” + 36x

X =3 +4x— 4

X =¥ —30x+ 72

X+ 3x> — S54x— 112

54x° + 429x° + 680x + 300

Al

X + 9% +23x+ 15

10x° — 13x> — 15x + 18

X —3x> — 18x+ 40

X+ 6x° + 13x+ 40

X =37 +8—6

www.snowmath.com

e DH



https://www.snowmath.com

, a* @ ‘ A0Sl 3 gasd) 3a0ea Jal se Jalas

pl: Aal)
6x” + 36x X + 9% +23x+ 15
6x(x + 6) (x+3)x+ DHx+5)

X =32 +4x— 4 10x° — 13x> — 15x + 18

(x—2)x*> —x+2) (2x — 3)(x — 1)(5x + 6)
X —x—30x+ 72 X —3x> — 18x+ 40
(x— 4)(x — 3)(x + 6) (x— 5)(x + 4)(x - 2)
X+ 3x> — S54x— 112 X+ 6x2 + 13x+ 40
(x+ 8)(x+2)(x—7) (x+5)(% +x+8)
54x° + 429x° + 680x + 300 X =32 +8—6
(9x + 10)(x + 6)(6x + 5) (x— )% = 2x + 6)

www.snowmath.com



https://www.snowmath.com

